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How to Use This Book

This book offers a comprehensive review of each of the 6 units and 4 big ideas aligned with the College Board’s learning objectives for Microeconomics and Macroeconomics. Each section of the book is designed to prepare you for both exams by beginning with breaking down the disciplines and basics of economics.


Review and Practice

The book is broken down into two main parts: Microeconomics and then Macroeconomics, where specific content is explained by unit and by big idea. Following each chapter are practice questions that highlight specific content within that chapter. Both multiple-choice and free-response questions include stimuli, such as graphs and tables that aid with more difficult questions. All questions include fully answered explanations.




Practice Tests

Within the first section of the book, the Introduction, there is an opportunity to check your strengths and weaknesses by taking pretests for both Ap Microeconomics and Ap Macroeconomics. From there you then have the opportunity to develop a solid study plan based on your results. At the end of each section, there are full-length practice tests for each course where you will find comprehensive answer explanations for all questions.




Online Practice

There are two full-length online practice exams—one for Microeconomics and one for Macroeconomics. You may take these exams in practice (untimed) mode or in timed mode. All questions include answer explanations. Also available as an online resource are helpful terms and their definitions by chapter for both Microeconomics and Macroeconomics. Use this book along with the Barron's Learning Hub for this additional resource. 




For Students

This review book highlights the key topics in each of the 6 units for both Ap Microeconomics and Ap Macroeconomics. It explains them by giving content examples and offering hundreds of graph examples and tables to aid in understanding the most difficult of those topics. How you use the book depends on how your school offers the course. Nevertheless, by answering the review questions at the end of each chapter and by taking the practice tests, you will have an indication of how well you will do on the actual exams. Good luck!




For Teachers

Suggest to your students that they use this book along with other classroom resources to help them prepare for one exam or both exams.











Introduction








1 The Ap Tests in Microeconomics and Macroeconomics



Learning Objectives

In this chapter, you will learn:


	➜Where to find Micro and Macro

	➜Multiple-choice questions


	➜Answering strategies

	➜Free-response questions







Introduction

Economics is a fascinating and enlightening subject that provides students with valuable insights to help understand the world and analyze complex issues while also helping one make better decisions and make the most of life. That being said, your most immediate concern is not likely solving global issues but preparing for the Advanced Placement (AP) Economics exam. Whether you are feeling extremely confident or in serious need of help preparing for the Ap Economics exam, you have already made a wise economic decision by using this very book right now to prepare for the Ap Economics exam. Like the tens of thousands of students around the world preparing for Ap Economics exams this year (over 200,000 Ap Economics exams are taken around the world every year), you may be feeling a bit overwhelmed by the extensive content in Economics, or thinking, “Where do I even begin to start studying?” Rest assured that in using this book, you have turned to a fantastic resource to study for the Ap exam. This book will help you learn the essential content in a clear and concise format. It highlights the important material to know based on a careful analysis of past Ap Economics exams and provides tips for success on either the Ap Macroeconomics exam, Ap Microeconomics exam, or both. It is clearly organized and written to help you focus on what you will actually be tested on and will prepare you for success for the Ap Economics exam. In this book, you will find countless ways to practice for the Ap exam and your class, including a pretest, a full-practice exam, practice multiple-choice and free-response questions at the end of every chapter, and a key graphs to know section. Every question in the book comes with a detailed explanation.




What's New for Microeconomics and Macroeconomics?

As of May 2025, the way you will be taking the Ap Microeconomics and Ap Macroeconomics exams will be different. Both exams are moving to a digital hybrid format. This means that you will view all questions (both multiple-choice and free-response) within the Bluebook app, but only answer the multiple-choice questions in the Bluebook app. You will still handwrite your answers to the free-response questions in paper exam booklets that will be turned in and scored. The format of the exams and the course have not changed.




Microeconomics, Macroeconomics, or Both?

To make sure you are efficient with your review, let’s make sure you are in the correct section of the book. Some students take both the Ap Microeconomics and Ap Macroeconomics tests, but others may just take one of these. Please see Table 1.1 for the correct chapters to focus on for your specific test(s). Following this chapter, there are two 50-question multiple-choice pretests for both Micro and Macro. All questions come with complete answer explanations with the location in the book of the concept so you can review areas of weakness. At the end of the assessment you can also calculate your number correct and see a chart estimating what your Ap exam score might be at this point. Note: The basic economics section is the same for both Ap Microeconomics and Macroeconomics, so all students should study Chapters 1–4.

Table 1.1 What Chapters Should You Study?








	Micro

	Macro






	Chapters 2–11, with a pretest, a full practice exam, key graphs summary, and practice questions at the end of each chapter

	Chapters 2–4 and 12–19, with a pretest, a full practice exam, key graphs summary, and practice questions at the end of each chapter









The Tests: What Topics Will You See?

The College Board is very specific about what information will appear on the exams. For instance, an entire 55–70 percent of the Ap Microeconomics exam is made up of the nature and function of product markets! Spending time studying product markets is obviously a smart decision. Table 1.2 shows the approximate percentage of the multiple-choice questions that will come from each content area, as stated by the College Board. For example, you can be assured that, as 55–70 percent of the Ap Microeconomics exam is the nature and function of product markets, anywhere from 33 to 42 of the 60 multiple-choice questions on the exam will come from this content area. For more specific details about the exam topics, see Table 1.2. You will find the entire Ap Microeconomics and Macroeconomics course outline on the College Board’s website.

Table 1.2 Micro and Macro Exam Topics and Approximate Percentages (Multiple-Choice)








	Micro

	Macro




	

	1.Basic Economics Concepts (12–15%)

	2.Supply and Demand (20–25%)

	3.Production, Cost, and the Perfect Competition Model (22–25%)

	4.Imperfect Competition (15–22%)

	5.Factor Markets (10–13%)

	6.Market Failure and the Role of Government (8–13%)




	

	1.Basic Economic Concepts (5–10%)

	2.Economic Indicators and the Business Cycle (12–17%)

	3.National Income and Price Determination (17–27%)

	4.Financial Sector (18–23%)

	5.Long-Run Consequences of Stabilization Policies (20–30%)

	6.Open Economy–International Trade and Finance (10–13%)









On both Ap Economics exams, two-thirds of your test grade comes from the multiple-choice section; the other third comes from the free-response questions (FRQs), with one long and two short questions (Table 1.3). More details and strategies for the multiple-choice and free-response questions are given later in this chapter.

Table 1.3 Exam Breakdown: Both Microeconomics and Macroeconomics









	Section

	Questions

	Allotted Time




	1.Multiple-choice questions (66.7% of final score)

	60

	70 minutes




	2.Free-response questions (33.3% of final score)

	1 long, 2 short FRQs

	60 minutes






You may also be wondering what percent of questions one needs to answer correctly for a 4 or 5 on the exam. The Ap Economics exam has a significant curve on it. In fact, only a handful of the 200,000-plus students who take the Economics exam every year get a perfect score! (If you do beat the odds and get a perfect score, you, your principal, and your teacher will receive a personalized letter of congratulations from the College Board on your achievement.) So now that we know that well over 99 percent of students will get at least one question wrong, you can see Table 1.4 for the minimum correct percent of correct answers you need to earn for different Ap scores (1–5). Keep in mind that the averages may change slightly from year to year due to different test questions being used and variations in student performance.

Table 1.4 Percent Correct Needed on Exam for Different Ap Scores: Both Microeconomics and Macroeconomics








	AP Score

	Minimum Correct Points Earned on Exam (%)




	
5

4

3

2

1


	
80

60

50

33

  0










Multiple-Choice Questions

The first part of the Ap Economics exam is the multiple-choice section. In this section, students are given 70 minutes to complete 60 questions. Each multiple-choice question works out to be 1.1 percent of your final Ap exam grade, so every question is important. Even though students today have grown up in a era of standardized testing and have taken no shortage of multiple-choice tests, it’s a good idea to refresh your skills or learn some new ideas in this section (some of which are directly relevant to the Ap Economics exam). Here are some tips and suggestions:

1.You’ve got 60 Problems, so Make Sure Running out of Time Isn’t one More. Of the 60 questions, don’t allow yourself to become stuck on or obsessed with one or two questions. Most students run out of time not because of the overall difficulty level but because of spending too much time on too few questions. If you don’t know the answer, flag it, and return to it later. The time limit works out to be around 70 seconds per question, yet no one question is worth more points than others. Of the two sections of the test, the multiple-choice part is the one that you must be most mindful of the time.


	
2. When In Doubt, Graph It Out. You will definitely be required to draw graphs in the free-response section, but doing so can be very helpful in the multiple-choice section as well. A brief graph drawn on the provided scrap paper can easily lead to the correct answers. For example, let’s look at the following sample question:




Which of the following changes in the demand for and the supply for widgets will definitely result in a decrease for both the equilibrium price and quantity of widgets?










	Supply

	Demand




	(A)Increase

	Increase




	(B)Increase

	No change




	(C)No change

	Decrease




	(D)Decrease

	Increase




	(E)Decrease

	Decrease






Trying to visualize all of those options can seem overwhelming; however, a well-prepared student could do a quick sketch of these supply and demand graphs. Graphing it out can easily clarify the correct answer. Even economic experts are fond of drawing out graphs to be sure of an answer. By the time a student has drawn option C, he or she will have identified the correct answer and can move on to the next question.


	
3.No Question Left Behind. Answer every question. There is no penalty for incorrect answers, only points for right ones. So if you have no clue about the answer, guess anyway. Each question will have five choices, and you at least have a 20 percent chance at getting it right.

	
4.Absolutely Not The Right Choice. Be careful when dealing with a question that uses absolutes. Anytime a possible answer uses absolute words such as always, never, rarely, and none, that choice is usually not the correct one.

	
5.Stay Positive, But Recognize The Negatives. Make sure to read every word of the question carefully. A common way test writers employ negatives is found in this sample question:




The long-run growth rate of an economy will be increased by an increase in all of the following except




	(A)capital stock.

	(B)labor supply.

	(C)real interest rate.

	(D)rate of technological change.

	(E)spending on education and training.



A student could possibly miss the word except at the end of the question and just put answer A, which would be correct if there was no except, and miss the correct answer, C. Another similar technique to confuse students is “which of the following is Not . . .”


	
6.Don’t Be Intimidated By A Question’s Looks. Some questions can look overwhelmingly difficult, but when approached correctly, they are usually less intimidating than their looks. Here is a sample of a question that can initially appear very difficult:




An opportunity cost is entailed in which of the following situations?




	
I.A student decides to attend college full-time.

	II.A family uses its $20,000 savings to purchase an automobile.

	III.A farmer decides to grow more wheat and less corn.






	(A)I only

	(B)II only

	(C)III only

	(D)I and III only

	(E)I, II, and III



Consider questions of this nature to be merely glorified true/false questions. Walk through all of the options, and cross out the false ones. In this case, all three are true, making E the correct answer. Here is another sample of a question type that can appear intimidating:








	Economic Data (Millions of People)




	Population

	150




	Labor force

	100




	Unemployed

	10




	Part-time workers

	5






Based on the economic figures in the table above, what is the unemployment rate?




	(A)0%

	(B)5%

	(C)10%

	(D)15%

	(E)33%



Just because there are four different options under economic data does not mean all of them need to be calculated. In this case, a student should recognize that the unemployment rate is calculated by dividing the number of unemployed by the labor force. Hence, you can ignore two of the four options under economic figures, and a simple calculation gives you the correct answer, C.




Free-Response Questions

After the multiple-choice section and a short break, you move on to the free-response questions. This 60-minute section makes up one-third of your Ap score. This section is comprised of one long question, worth about 16 percent of your final Ap score, and two short questions, each worth about 8 percent. Try to use no more than 25 minutes for the long question and 12.5 minutes for each of the two short questions. Past students report that they are more likely to run out of time on the multiple-choice section as opposed to the free-response questions, so be sure to double-check all of your answers in the free-response section. Here are some general tips for success on both the Ap Microeconomics and the Ap Macroeconomics free-response questions.

1.You Get Second Chances. They don’t come only in life but also on the Ap Economics exam. A very important thing to know about the free-response questions is that even if you answer the first part of a question incorrectly, it is still possible to earn “consistency” points on other parts of the question related to the initial incorrect answer. To give you an example from a question similar to one on a recent Ap Microeconomics exam, let’s look at the monopoly graph in Figure 1.1. Students were asked to begin by identifying the profit-maximizing quantity for the monopolist. From there, students were asked to identify the price, total revenue, and total cost of production; all of these answers are based on the profit-maximizing quantity chosen at the beginning. If a student chooses the wrong quantity, technically all of the following answers will be wrong as well. However, if a student incorrectly identifies the wrong quantity of 25 (the correct answer is a quantity of 15 and a price of 40), he/she missed that point but is still eligible to get the other questions correct! The other answers are now based on the incorrect quantity of 25, which would result in different price, cost, and revenue answers that could be counted as correct. Despite this initial incorrect answer, several consistency points could be earned.


[image: This is a sample monopoly graph indicating P and MC=ATC. Along side P, are the numbers 40, 30, 20, and 10. Bottom line Q has the numbers 15, 20, 25, and 35. The following has dotted lines to and from one another: 40-15, 30-20, 20-25, and 10-35. A straight line through the graph is solid and is MC = ATC.]

Figure 1.1 Free-Response Example: Sample Monopoly Graph





Here is another example of how students can earn consistency points despite a wrong answer, this time from the Ap Macroeconomics exam: The question reads “Interest rates increase in the United States relative to Japan. Based on this change, what will happen to the value of the U.S. dollar vs. the Japanese yen, and exports from the U.S. to Japan? Explain.” The correct answer is that the demand for the U.S. dollar would increase, making the U.S. dollar appreciate in value vs. the yen. As the U.S. dollar appreciates vs. the yen, exports to Japan decrease, because U.S. goods are now relatively more expensive for the Japanese. However, if a student incorrectly claims the U.S. dollar depreciates, one point is taken off, but not all is lost. The student can still earn a consistency point by stating that exports to Japan would increase, based on the initial wrong answer of a depreciated U.S. dollar.


	
2.Mind Your Ps And Qs. Always completely label your graphs. You are guaranteed to have to draw graphs on the free-response section, and you will get several points on the test for labeling your graphs correctly. At a minimum, this means putting the correct labels on the x- and y-axes and all your curves. Also, be sure to show with an arrow when the curve shifts, and clearly identify any changes in price or quantity. For example, if the demand curve increases, leading to an increase in price, you could label the first curve D1 and the new curve D2, just like the graphs you will see in this book. The same goes for price and quantity, or any other item you are asked to label. Also, the graders of Ap tests may take off points for not drawing dotted lines to the x- and y-axes to show price and quantity; be sure to do this. To be sure of how to correctly label a graph, see any graph in this book.

	
3.Save The Five-Paragraph Essay For Another Ap EXAM. Being verbose, or using far more words than are required, is a common mistake students make. If a question asks you to identify a price or quantity, all that is required is to list the answer, (e.g., price of $5, quantity of 20). The amount of writing required for full credit on a question is actually quite minimal. See more information on what is required for a correct answer in item 5 below.

	
4.A Well-Drawn Graph Is Worth A Thousand Words. OK, maybe not a thousand words, but it is worth a few points on the Ap exam. Ap graders are looking for specific labels and information when grading your exam, and a well-drawn, neat graph with correct shifts can clearly display your understanding of content. There are just a few graphs to memorize and know. Draw them neatly and clearly, and show your shifts. This will lead to success on the test.

	
5.Explain? Identify? Draw? Show?—What Are Graders Looking For? Speaking from our vast experience as Ap exam graders, you would be surprised at how many students know the content yet lose points because they either don’t fully read the question or misunderstand what the question is asking. Students should pay careful attention to understanding what the question is actually asking. Here are a few common phrases that often confuse students and an explanation of what is expected for full credit when asked.




	■Show your work. Do exactly what it says here. For example, if you are asked to calculate profit on the Ap Microeconomics exam and show your work, don’t just say that total revenue minus total cost equals profit, which is $100. This will not suffice for credit (write out that $150 − $50 = $100). Plug in all the numbers, and show all of your work.

	■Explain. You may not always be asked for an explanation, but be sure to give one if asked. Even if you have the correct answer, no point will be given if the explanation is missing. This is when you should write a whole sentence or two. Here is an example question: “What happens to economic growth if real interest rates decrease? Explain.” You will not receive full credit by merely stating that economic growth will increase because interest rates decreased. A correct answer for full credit would say: “Economic growth will increase, because lower real interest rates will lead to increased investment and capital formation.” Explain your whole line of reasoning, such as this answer does. Note: If the question does not ask you to explain, it’s not required for credit.

	■Identify or determine. When you see these words, graders are expecting a straightforward answer that requires little writing. The question may ask you to identify the price, quantity, or profit.

	■Draw or show. This is when graders are looking for a graph or a change on a graph. A question using these words may look like this: “Draw a correctly labeled loanable-funds graph, and show how an increase in government borrowing affects the real interest rate on the graph.” Here a student should label all axes and curves, and clearly show all shifts with arrows.

	■Calculate. When a question asks you to calculate, it is asking you for a specific number, not just an area on a graph. Let’s assume a correct calculation is 3 × 100 = 300. If you set up the problem correctly but mistakenly write the wrong answer, you may still get credit! For example, if you write 3 × 100 = 400, you will likely still receive credit by setting up the problem correctly with 3 × 100.



Here are a few other tips and reminders going into the Ap Economics exam’s free-response section:


	■Remember, you are only reading the free-response questions from the Bluebook app. You will then use the provided test booklet to write out your answers.

	■Be sure to practice free-response questions in this book. The questions in this book have been carefully developed to be similar to what you can expect to see on the actual exam.

	■Be neat and organized. Ap Economics graders are looking for specific words, numbers, or labels on a graph, and clear, legible answers will help your cause. Also, clearly label the question number you are answering. If you are answering question 2(ii), label it as such before your answer.

	■Memorize the various graph labels and curves. You will get several points just by labeling your graphs correctly. There are only a few graphs to know for both the Microeconomics and Macroeconomics exams. Know them well.

	■Don’t repeat the question in your answer.

	■Write your answers in the correct designated answer section. Ap graders are instructed not to grade answers written in the wrong section. You would be surprised how many times students lose points for writing their answers or drawing graphs in the wrong section of the answer booklet. The location of the test booklet designated for answers is clearly labeled, but always double-check.



Here are some tips that are specific to either the Microeconomics or Macroeconomics free-response questions.


Microeconomics Free-Response


	■Know the four market structures. The long free-response question frequently asks students about one of these three market structures: perfect competition, monopoly, and monopolistic competition. The fourth, oligopoly, has been frequently asked about in one of the short questions, applying game theory.

	■The other two short questions can come from a wide range of topics from the course outline. Common past topics for these questions in recent years have included labor markets, externalities, accounting vs. economic profit, utility maximization, elasticity, natural monopolies, price ceilings/floors, tax incidence, and allocative and productive efficiency. Please note that any topic from the course outline could potentially be asked in this section.






Macroeconomics Free-Response


	■Know the Big 5 graphs. When you have to draw a graph, most likely it will be one of the Big 5. They are the aggregate supply and demand, the Phillips curve, the money market, the loanable funds market, and the foreign exchange market.

	■Of the Big 5, the one that almost always appears is the aggregate supply and demand graph.

	■Question number 1 (the long one) almost always starts by asking students to draw an economy either at full employment, in a recession, or with inflation using the aggregate supply and demand model. It then moves on by asking for an appropriate monetary or fiscal policy for the situation. It will usually ask students to draw a second graph as well, likely the Phillips curve, the loanable funds market, or the money market.

	■The other two short questions can come from a wide range of topics from the course outline. Common past topics for these questions in recent years have included comparative advantage and terms of trade, nominal vs. real interest rates, the foreign exchange market, banking money expansion using the money multiplier, gross domestic product, price indexes, and the balance of payments. Please note that any topic from the course outline could potentially be asked in this section.




REMINDER


	Make sure to bring the following with you to your exam:

	■Photo ID

	■Fully charged device with the Bluebook app downloaded and ready to go

	■Black or dark-blue ballpoint pens for the free-response questions only. You will be provided with scrap paper and a test booklet.

	■Four-function calculator










Practice, Practice, Practice

Now that you have all the information and strategies for the exams in Ap Economics, be sure to use them whenever you do the practice exercises at the end of each chapter, the practice exams in the book, and, of course, when you take the actual tests. Don't forget to review the many helpful Microeconomics and Macroeconomics terms available online to help with your studying.








Microeconomics Pretest

On a separate sheet of paper, answer each question or complete each statement with the correct letter. To get a true assessment of your strengths and weaknesses, do not look up any hints or answers. At the end of the assessment, calculate your number correct out of 50 and you will see a chart estimating what your Ap exam score might be at this point.


	1.Which of the following would Not be considered a characteristic of a market or capitalistic economy but that of a command or communist economy?

	(A)Protection of private property

	(B)Negative externalities

	(C)The price system to allocate resources

	(D)Competition among firms

	(E)Centralized decision making



Use this graph for question 2.


[image: This graph has two lines, one for sample good on the left side and consumer good along the bottom. There is a semi-circle line that connects the two. There are letters with points within in the graph but the semi circle hits points B, C, and D. ]



	2.In the graph above, which movement would show a movement from inefficiency to efficiency?

	(A)B to C

	(B)C to B

	(C)C to E

	(D)A to C

	(E)C to A

	3.According to the law of comparative advantage, the U.S. should specialize production in ________ and Germany should specialize production in _________.

	(A)peanuts; neither good

	(B)peanuts; oranges

	(C)oranges; oranges

	(D)oranges; peanuts

	(E)oranges; neither good











	Tons of peanuts and oranges produced in a day:




	 

	Peanuts

	Oranges




	U.S.

	20

	60




	Germany

	10

	20






4.The table shows the quantity of chocolate candy bars consumed and the total utility. In eating which candy bar would the consumer begin to experience diminishing marginal utility?








	Number of Candy Bars Consumed

	Total Utility






	1

	  5




	2

	12




	3

	20




	4

	26




	5

	30




	6

	32






(A)1st

(B)2nd

(C)3rd

(D)4th

(E)5th

5.Assume Ahmed spends all his income on two goods: pizza and video games. The current cost of pizza is $6 and of video games is $20, and at his consumption level the marginal utility from eating pizza is 18 and from playing video games is 40. In order to maximize his utility, Ahmed should

(A)consume more pizza and buy fewer video games.

(B)buy more video games and consume less pizza.

(C)consume more of both.

(D)consume less of both.

(E)keep consumption at his current level.

6.Assume a friend offers to give you a “free” ticket to a local professional baseball team’s game that night. You decide to attend the game. The game takes five hours and costs you $15 for transportation. If you had not attended the game, you would have worked 5 hours at your part-time job for $8 an hour. What is the opportunity cost to you of attending the game?

(A)$0

(B)$23

(C)$40

(D)$55

(E)$65

7.Which of the following would shift the demand curve for avocados to the right?

(A)A decrease in the price of a complementary good for avocados

(B)An increase in productivity of avocado farmers

(C)A decrease in the price of avocados

(D)A decrease in the price of a substitute for avocados

(E)The imposition of a price floor in the avocado market

Use the following graph for questions 8 and 9.


[image: Graph explaining a competitive market when it is equilibrium. The left line represents price and the bottom line represents demand and quality. There are dotted lines that go from P1-P3 and connected to Q1-Q3. A, B, C, D are all points that are on the line from price to demand. Points F, E, C, and G all are on the diagonal line labeled Supply.]


8.Assume the perfectly competitive market shown above is in equilibrium, but then the government adds a price ceiling at P1. With the price ceiling in effect, please choose the correct area of the consumer surplus and deadweight loss.




	Consumer Surplus

	Deadweight Loss




	(A)P2, A, B

	E, C, D




	(B)P1, A, B, E

	E, B, C




	(C)A, C, F

	A, D, P1




	(D)P1, P3, B, E

	E, B, D




	(E)P1, E, F

	P1, P3, B, E






9.Assume the perfectly competitive market shown above is in equilibrium, but then the government adds a price floor at P3. With the price floor in effect, please choose the correct area of the consumer surplus and deadweight loss.




	Consumer Surplus

	Deadweight Loss




	(A)F, A, C

	B, C, G




	(B)P2, A, C

	E, C, D




	(C)P3, A, B

	E, B, C




	(D)A, B, E, F

	E, B, D




	(E)P1, P3, B, E

	E, B, C






10.If the supply of good X decreases and this leads to an increase in both the price and quantity for good Y, which of the following is true?

(A)Good Y is a substitute for good X.

(B)Good Y is a complement of good X.

(C)Good Y is an inferior good.

(D)Good Y is a normal good.

(E)Good X is independent of good Y.

Please use this graph for question 11.


[image: Elasticity graph showing left line as Price and bottom line as Quantity. Along the Price line there is $20 and then $6. There is a dotted line going across the graph from $6. There is a diagnol line going from $20 to D2. D1 is a vertical line that goes through the dotted line $6 and D2. ]


11.According to the graph, what combination below best describes the elasticity of demand curves D1 and D2 at a price of $6?




	Demand Curve D1

	Demand Curve D2




	(A)Perfectly elastic

	Perfectly elastic




	(B)Relatively elastic

	Relatively elastic




	(C)Perfectly elastic

	Perfectly inelastic




	(D)Relatively inelastic

	Relatively elastic




	(E)Perfectly inelastic

	Relatively inelastic






12.SPAM (meat in a can) is considered an inferior good and grapes are a normal good. If consumers’ income decreases, what would an economist predict to happen to the price and quantity of these two goods?










	SPAM

	Grapes




	Price

	Quantity

	Price

	Quantity




	(A)Unchanged

	Increase

	Decrease

	Increase




	(B)Increase

	Increase

	Decrease

	Decrease




	(C)Decrease

	Decrease

	Unchanged

	Increase




	(D)Decrease

	Decrease

	Unchanged

	Increase




	(E)Decrease

	Increase

	Increase

	Increase






Use the following graph for question 13.


[image: This small graph illustrates market equilibrium at Pe and Qe. It is labeled Peanut Market at the top, Price on the left, and Quanitity along the bottom. Two diagnol lines are labeled S+tax and S1. Two dotted lines come from the left side of graph from P2 and PE to points e2 and e1. There is an up arrow going from PE to P2 and another one going along the bottom from QE to Q2. There is a third arrow pointing left across the top going from S1 to S +tax. ]


13.The graph shows a market in equilibrium at PE and QE. Then the government imposes an excise tax on peanuts, with supply shifting to the left at P2, Q2. What will happen to each of the following after the imposition of the sales tax?




	Producer Surplus

	Consumer Surplus

	Total Surplus




	(A)Increase

	Increase

	Increase




	(B)Decrease

	Decrease

	Decrease




	(C)Increase

	Decrease

	Increase




	(D)Decrease

	Increase

	Increase




	(E)Decrease

	Increase

	Decrease






14.If a 10% increase in the price of a good leads to a 5% decrease in the quantity demanded of that good, demand is

(A)perfectly elastic.

(B)relatively elastic.

(C)unit elastic.

(D)relatively inelastic.

(E)perfectly inelastic.

15.Assume the elasticity of demand for fidget spinners is 4. A 20 percent decrease in the price causes the quantity demanded for fidget spinners to increase by

(A)5%.

(B)20%.

(C)40%.

(D)80%.

(E)160%.

16.This table shows the total production of widgets with different numbers of workers used. Which of the following is true?








	Number of workers

	Total widgets produced per day






	1

	5




	2

	15




	3

	26




	4

	34




	5

	40




	6

	45






(A)Marginal product is greatest at 6 workers.

(B)Diminishing marginal returns begin with the 2nd worker.

(C)At 6 workers, both marginal and total product equal 45.

(D)The firm should hire 6 workers to maximize profit.

(E)Diminishing marginal returns begin with the 4th worker.

17. This graph best depicts which of the following concepts?


[image: Graph illustrating output, quantity of labor, and total product. Each is labeled on the graph with Output being the left line of the graphy, Quantity along the bottom and Total Product, a curved line through the graph. The bottom is also labeld 0 in the corner, 1 and 2 next to Q of Labor. There are dotted lines that go from the total product curve to 1 and 2.]


(A)The law of diminishing marginal returns in production

(B)The law of increasing opportunity cost

(C)The law of diminishing marginal utility in consumption

(D)Absolute advantage

(E)Economies of scale

Use this chart for questions 18 and 19.








	Output

	Total Cost






	0

	5




	1

	20




	2

	30




	3

	38




	4

	50




	5

	65




	6

	85






18.What is the marginal cost of producing the 5th unit of output?

(A)5

(B)10

(C)13

(D)15

(E)20

19.What is the total variable cost of producing the 4th unit of output?

(A)5

(B)12

(C)12.5

(D)45

(E)50

20.If a company has an average total cost of $100 and a marginal cost of $90 at the 4th unit of output, then which of the following must be true?

(A)The average total cost of producing the 3rd unit is less than $100.

(B)The average total cost of producing the 3rd unit is more than $100.

(C)The average fixed cost curve is increasing as production moves from 3 to 4 units.

(D)The average variable cost of producing the 4th unit is more than $100.

(E)The marginal cost curve has intersected the average total cost curve before the 4th unit.

21.Fields’ Flour Corporation can produce 500 units of output a day employing 40 workers and 10 robots. Which of the following combinations correctly shows constant returns to scale?




	Workers

	Robots

	Units of Output






	(A)20

	10

	   250




	(B)40

	  5

	   250




	(C)80

	20

	1,000




	(D)80

	10

	1,000




	(E)80

	40

	1,000






22.This graph shows a perfectly competitive market. Which of the following statements are true at the firm’s profit-maximizing level of output?

I.The firm is incurring economic losses.

II.The firm is earning economic profits.

III.The firm is earning a normal profit.

IV.Price is greater than ATC.

V.Firms will exit the industry.


[image: Graph P vs. Q showing perfectly competitive market. P1 is labeled along the left side under P. P1 is a straight line that ends up at the end with equation: MR = D= AR=P. There are three curved lines that go through the graph. They are labeled: MC, ATC, and AVC.]


(A)I and II

(B)I, III, and V

(C)II and IV

(D)I, II, and IV

(E)I, III, and V

23.If a firm is experiencing diseconomies of scale, which of the following is correct?

(A)Long-run average total costs are increasing as output increases.

(B)Long-run average total costs are decreasing as output increases.

(C)Firms will enter the industry if firms are experiencing diseconomies of scale.

(D)The firm is incurring economic losses.

(E)Long-run average total costs remain constant as output increases.

24.Jacob was a corporate lawyer, who quit his job to open a yoga studio. His income as a lawyer was $100,000, and he earned $60,000 as a yoga studio entrepreneur. He also took $10,000 of his savings out of his bank savings account to invest in his business, where he was earning 10% interest. What is Jacob’s economic profit from his yoga studio?

(A)−$41,000

(B)−$40,000

(C)$40,000

(D)$60,000

(E)$70,000

25.Why do perfectly competitive firms earn zero economic profit in the long run?

(A)Perfectly competitive firms have lower costs than other market structures.

(B)Perfectly competitive firms have more technological innovation than other market structures.

(C)Perfectly competitive firms have higher start-up costs than other market structures.

(D)It is difficult for other firms to enter and exit a perfectly competitive industry.

(E)It is easy for other firms to enter and exit a perfectly competitive industry.

26.At a production level of zero, Abc Corporation has a total cost of $10. The marginal cost of producing the first unit is $40, and the marginal cost of producing the second unit is $20. What is the total average cost of producing two units?

(A)$15

(B)$20

(C)$35

(D)$60

(E)$70

27.Which of the following is Not a characteristic of a perfectly competitive firm?

(A)It should shut down if price is less than average variable cost where marginal revenue = marginal cost.

(B)In long-run equilibrium, it is allocatively efficient but not productively efficient.

(C)It is a price taker.

(D)Demand, marginal revenue, and average revenue are all equal.

(E)There are low barriers to entry into the market.

28.In which of the following market structures are mutual interdependence and game theory used to describe how firms relate to one another?

(A)Oligopoly

(B)Monopoly

(C)Monopolistic competition

(D)Perfect competition

(E)Both monopoly and oligopoly

29.In a monopoly that practices perfect price discrimination, which of the following is correct regarding the demand curve, marginal revenue curve, and consumer surplus?

(A)Demand > marginal revenue and consumer surplus is negative.

(B)Demand > marginal revenue and consumer surplus is positive.

(C)Demand > marginal revenue and consumer surplus is zero.

(D)Demand = marginal revenue and consumer surplus is positive.

(E)Demand = marginal revenue and consumer surplus is zero.

Use this graph for questions 30, 31, and 32.


[image: This graph shows a monopoly with different combinations of price, quantity, and deadweight loss. Along the left side, the following is labeled: P, p5, p4, p3, p2, p1, and then 0. Along the bottom is labeled: q1, q2, q3, and Q. There is a diagnol line that is laeled point E, hits points C, J, F and ends at D. Other dotted lines at 90 degrees go from P numbers on the left side to various letter points on the right. Two labeled curved lines go through the graph and they are MC and ATC.]


30.Assume the monopoly in the graph is producing at the profit-maximizing level of output. Choose the correct combinations of price, quantity, and deadweight loss.




	Price and Quantity

	Consumer Surplus

	Deadweight Loss






	(A)P4, Q2

	P4, E, J

	A, G, J




	(B)P4, Q2

	G, C, J

	A, G, J




	(C)P5, Q1

	P5, E, C

	G, C, J




	(D)P5, Q1

	P5, E, C

	A, C, J




	(E)P3, Q3

	P3, E, F

	A, C, F






31.Assume the monopoly in the graph is producing at the point where it maximizes total revenue. Choose the correct combinations of price, quantity, and deadweight loss.




	Price and Quantity

	Consumer Surplus






	(A)P3, Q3

	P3, E, J




	(B)P3, Q3

	G, C, J




	(C)P4, Q2

	P5, E, C




	(D)P4, Q2

	P4, P5, C, G




	(E)P4, Q2

	P4, E, J






32.Assume the monopoly in the graph is producing at the profit-maximizing level of output. What is the area of economic profit?

(A)P4, G, B, P2

(B)0, P5, C, Q1

(C)P2, P5, C, B

(D)P1, P5, C, A

(E)P2, E, C, B

33.Which of the following is true for monopolistically competitive firms in long-run equilibrium?

(A)They are price takers.

(B)Their demand curves are equal to the marginal revenue curves.

(C)There are positive economic profits.

(D)There are high barriers for firms to enter the market.

(E)They sell similar but differentiated products.

Use the game theory matrix here for questions 34 and 35.


[image: ]


34.In a small town there are only two shoe sellers, Tommy’s Tennies and Kevin’s Kicks. They are both trying to decide whether to price high or low. The first number in each box refers to the daily profit for Tommy’s Tennies, and the second number refers to Kevin’s daily profit. Based on the numbers in the game theory matrix, which of the following is true?

(A)Pricing high is a dominant strategy for Tommy’s Tennies.

(B)Pricing high is a dominant strategy for Kevin’s Kicks.

(C)Pricing low is a dominant strategy for Tommy’s Tennies.

(D)Pricing low is a dominant strategy for Kevin’s Kicks.

(E)Neither firm has a dominant strategy.

35.In a small town there are only two shoe sellers, Tommy’s Tennies and Kevin’s Kicks. They are both trying to decide whether to price high or low and know all the information in the payoff matrix. The first number in each box refers to the daily profit for Tommy’s Tennies, and the second number refers to Kevin’s daily profit. Based on the numbers in the game theory matrix, what is the Nash equilibrium?




	Tommy’s Tennies

	Kevin’s Kicks






	(A)High

	High




	(B)High

	Low




	(C)Low

	Low




	(D)Low

	High




	(E)There is no Nash equilibrium.






36.Which of the following correctly describes monopolistically competitive firms in long-run equilibrium? (D = demand, Mr = marginal revenue, Mc = marginal cost, Atc = average total cost.)

(A)MR = MC, P > ATC, D > MR

(B)MR > MC, P = ATC, D = MR

(C)MR = MC, P < ATC, D < MR

(D)MR < MC, P = ATC, D > MR

(E)MR = MC, P = ATC, D > MR

37.If the regulators of a natural monopoly mandate the price to be set where price = average total cost, what best describes this situation?

(A)The firm is pricing at the socially optimal price.

(B)The firm is pricing at the fair-return price.

(C)The firm is pricing at the unregulated price.

(D)The firm is producing an output level where Mr = MC.

(E)The firm is realizing economic profits.

38.Why do most governments in market economies enforce antitrust laws?

(A)To ensure oligopolies don’t have monopoly power

(B)To prevent too much competition in an industry

(C)To ensure natural monopolies price at the socially optimal level of output

(D)To ensure oligopolies reach a Nash equilibrium

(E)To prevent price ceilings from being imposed on a market

39.A worker’s marginal revenue product is best described as

(A)the total revenue a firm makes when selling a product.

(B)the change to a firm’s revenue when employing an additional worker.

(C)the change to a firm’s profit when employing an additional worker.

(D)the total amount of a firm’s labor costs.

(E)the change in resource cost divided by total revenue.

40.Assume a perfectly competitive labor market is initially in equilibrium with a downsloping demand curve and an upsloping supply curve. If the government then sets a binding minimum wage, which of the following is correct?

(A)There would be a shortage in the labor market.

(B)The quantity of labor supplied would be greater than the quantity of labor demanded.

(C)The number of workers hired would remain the same.

(D)The number or workers hired would increase.

(E)The market would remain in equilibrium regardless of the wage paid.

Use this chart for question 41.








	Number of Workers

	Bushels of Apples






	1

	15




	2

	32




	3

	38




	4

	43




	5

	45




	6

	46






41.Assuming both perfectly competitive labor and product markets, if a bushel of apples sells for $10 and each hired worker costs $20, how many workers should be hired to maximize profits?

(A)2

(B)3

(C)4

(D)5

(E)6

42.Assume a firm producing computer screens uses only two inputs in the production process, labor and robots. The price of a robot is $100 per unit, and labor is $20 per unit. At current output levels, the robot’s marginal product is 1,000 and labor’s is 100. In order to lower total production costs, how should the firm change its use of labor and robots?




	Labor

	Robots






	(A)Increase

	Decrease




	(B)Increase

	Increase




	(C)Decrease

	Decrease




	(D)Decrease

	Increase




	(E)No change

	Increase






Use this graph for question 43.


[image: Labor market graph identifying Wage on the left line and Q Labor along the bottom. $20, $15, $12, and $10 along the wage line. Q1 and Q2 along the labor line. D = MRP with a diagnol line going from $20 down, MFC diagnol line through point at $15. Diagonl line S going through points Q1 and Q2 at $12 and $10.]


43.According to this labor market graph, what is the quantity and wage paid for both a monopsony and a perfectly competitive labor market?




	Perfectly Competitive Market

	Monopsony






	(A)Q2, $12

	Q1, $10




	(B)Q2, $20

	Q1, $15




	(C)Q1, $15

	Q1, $20




	(D)Q1, $20

	Q1, $12




	(E)Q2, $12

	Q1, $20






44.This table shows the total product for a perfectly competitive firm. If the product sells for $10, what is the marginal revenue product for the 4th worker hired?








	Number of Workers

	Total Product




	1

	10




	2

	30




	3

	44




	4

	54




	5

	60




	6

	64






(A)$10

(B)$27

(C)$40

(D)$54

(E)$100

45.Which of the following is the best example of a pure public good?

(A)National defense

(B)Internet service

(C)Garbage pick-up services

(D)A publicly funded sports stadium

(E)The U.S. Postal Service

Use this graph for question 46.


[image: P and Q are labeled on this flu shot market graph. Two parallel lines going diagonally through the graph are labeled Marginal Social Benefit and and Marginal Private Benefit. They each intersect with a point through diagnol line going the opposite way labeled S = Marginal Social Cost.]


46.Which of the following is true based on the graph?

(A)Producers should have a per-unit tax imposed to allow for production at the socially optimal output level.

(B)The marginal private benefit is greater than the marginal social benefit at the free-market output level.

(C)Producers should be given a per-unit subsidy to allow for production at the socially optimal output level.

(D)There are no externalities present at the free-market quantity.

(E)At the socially optimal quantity, marginal private benefit is greater than the marginal social benefit.

Use this graph for question 47.


[image: This is a Lorenze Curve graph where letters A, B, and C marked on the graph by different lines and arrows represent different countries. This graph is inside a square and is labeled at two corners upper left and bottom right 100% with % of income along the side and % of familes along the bottom. 50% and 25% are also labeled on the left side 50% right in the middle along the bottom.]


47.Which of the following is true based on this graph, where lines A, B, and C each represent a country?

(A)Country A has more income inequality than B or C.

(B)Country B has more income inequality than A or C.

(C)Country C has more income inequality than A or B.

(D)Countries A, B, and C all have an equal amount of income inequality.

(E)Country A has income inequality but less than B and C.

48.Clearing lakes and waterways of pollution will result in increased efficiency if

(A)the marginal social cost is greater than the marginal social benefit.

(B)the marginal social benefit is greater than the marginal social cost.

(C)the marginal social cost is positive.

(D)the marginal external benefit is less than the marginal social cost.

(E)companies that pollute are given a per-unit subsidy.

49.If residents of a city oppose a new highway being built through local neighborhoods, what economic concept best describes their opposition?

(A)Free-rider problem

(B)Economic rent

(C)Private goods

(D)Monopolies

(E)Externalities

50.Of the following, which is the best representation of a positive externality?

(A)Enjoying the beauty of a neighbor’s meticulously cared for flowers

(B)Using high-speed Internet access

(C)Paying for a ticket to a sporting event

(D)Being disturbed from a neighbor’s loud music

(E)Getting a car ride from a friend






Pretest Ap Score Estimate

When you have finished, calculate the number correct out of 50 and compare it to the chart for a rough estimate of what your Ap exam score might be at this point.








	AP Microeconomics Score Estimator




	Pretest Score

	AP Score






	40–50

	5




	33–39

	4




	25–32

	3




	17–24

	2




	0–16

	1







Study Guide for the Pretest

Note the questions you missed. Each correct response is followed by the chapter and section that covers the material for answering the question correctly. Concentrate your efforts on these chapters.

Each correct response has an explanation. If you do not understand the explanation, it means you have significant review work in that chapter before you are ready for the exam.




Answer Explanations


	1.(E)(Chapter 3) A command economy is reliant on central planners to make decisions about production and prices. Market economies rely on prices to allocate resources, the protection of private property, and competition.

	2.(D)(Chapter 2) Producing anywhere on the production possibilities curve is considered efficient. Inside the curve is inefficient, and you cannot get outside the curve to point E with current resources, only with future economic growth.

	3.(D)(Chapter 2, Comparative Advantage) Nations should export the good in which they hold the comparative advantage. Comparative advantage means having the lower opportunity cost in production. As this is an output problem, to calculate the opportunity cost of the U.S. of producing peanuts, take the U.S. oranges number (60) and put it over the peanuts number (20). This makes 60/20, or a per-unit opportunity cost of 3 oranges given up when a peanut is produced.





[image: ]


Germany has the comparative advantage in peanuts: the per-unit opportunity cost is 2 oranges for Germany vs. 3 oranges for the U.S.

The U.S. has the comparative advantage in oranges: the per-unit opportunity cost is 1/2 peanuts for Germany vs. 1/3 peanuts for the U.S.

Therefore, the U.S. should produce oranges and Germany peanuts.

4.(D)(Chapter 2, Marginal Analysis and Consumer Choice) Here marginal utility is calculated as the change in total utility. As you can see in the added marginal utility column, it starts to decrease when eating the 4th candy bar as it falls from 8 to 6. Up until this time, it was increasing.











	Number of Candy Bars Consumed

	Total Utility

	Marginal Utility






	1

	  5

	5




	2

	12

	7




	3

	20

	8




	4

	26

	6




	5

	30

	4




	6

	32

	2







	5.(A)(Chapter 5, Marginal Analysis and Consumer Choice) The utility-maximization formula is MUX/PX = MUY/PY. Here it’s 18/$6 ≠ 40/$20, as 3 pizzas > 2 video games. His marginal utility per dollar spent is higher for pizza than video games. Therefore, to maximize his utility, he should buy more pizza and fewer games. Diminishing marginal utility sets in as more pizza is consumed and the numbers will eventually equal out.

	6.(D)(Chapter 2, Opportunity Cost) When calculating the opportunity cost, you need to consider both the explicit cost (cab fare, $15) plus the implicit cost ($40 of lost wages) for the total opportunity cost of $55.

	7.(A)(Chapter 4, Demand) The demand increases for a good when the price of a good’s complement decreases. For example, if salsa and avocados are complements, when salsa goes down in price the demand shifts right for avocados. C is incorrect as this is a change in quantity demanded, not demand. A change in quantity demanded is just a price change in the market with a move along a fixed demand curve.

	
8.(B)(Chapter 5, Price Ceiling) The binding price ceiling puts the price at P1. At this price there is a shortage, as buyers want to buy a quantity of Q3, but sellers are only going to offer Q1 for sale at P1, so this is the quantity sold. The consumer surplus will be P1, A, B, E, which are all left of Q1. The deadweight loss used to be both consumer and producer surpluses at the previous equilibrium, but the loss is now E, C, B.

	9.(C)(Chapter 5, Price Floor) The binding price floor puts the price at P3. At this price there is a surplus, as sellers want to offer Q3 for sale, but buyers are going to consume less at a higher price, so the quantity sold in the market is now Q1. So, the consumer surplus shrinks to P3, A, B, which are all left of Q1. The deadweight loss used to be both consumer and producer surpluses at the previous equilibrium, but the loss is now E, C, B.

	10.(A)(Chapter 4, Demand) As the supply of good X decreases, the price would increase, and the quantity sold would decrease. This results in an increase in demand for good Y, which means X and Y are substitute goods. People want to buy more of Y as X increases in price.

	11.(E)(Chapter 5, Elasticity of Demand) A vertical curve like D1 is perfectly inelastic. Consumers will buy the same quantity regardless of a change in price. For a downsloping curve with a 45-degree angle like D2, the lower half of the curve is the relatively inelastic portion. The upper half is the relatively elastic portion, and the midpoint of the curve is unit elastic.

	12.(B)(Chapter 5, Normal vs. Inferior Goods) With an inferior good, there’s an indirect relationship between income and demand. When income falls, demand increases and shifts right, thus increasing price and quantity. With a normal good, there’s a direct relationship between income and demand. As income falls, the demand decreases and shifts left for a normal good, decreasing price and quantity.

	13.(B)(Chapter 5, Taxation) When the tax is imposed, the supply curve shifts left by the amount of the tax. This creates a new higher price at P2, reducing consumer surplus. Sellers receive a higher price but must pay the sales tax to the government and sell less quantity, so their after-tax revenue is less, decreasing producer surplus. Thus, total surplus also decreases.

	14.(D)(Chapter 5, Elasticity of Demand) To calculate the elasticity of demand, use the elasticity of demand formula: 0.05/0.1 = 0.5. As this is less than 1, demand is relatively inelastic.




[image: ]


Elasticity Coefficient Value








	Type of Elasticity

	Elasticity Value






	Relatively Elastic

	> 1




	Perfectly Elastic

	∞ (infinity)




	Relatively Inelastic

	< 1




	Perfectly Inelastic

	= 0




	Unit Elastic

	= 1







	
15.(D) (Chapter 5, Elasticity of Demand) Take the elasticity of demand × the percentage change in price. 4 × 20 = 80%.

	16.(E)(Chapter 6, Diminishing Marginal Returns) The change in total produced is the marginal product. You can see in the table with adding marginal product that marginal product begins to decline with the 4th worker. Production declines due to the law of diminishing marginal returns: as more workers are added to fixed resources, production eventually declines. Answer D is incorrect as there’s not enough information given here to determine the profit-maximizing number of workers.










	Number of Workers

	Total Widgets Produced per Day

	Marginal Product




	1

	5

	5




	2

	15

	10




	3

	26

	11




	4

	34

	8




	5

	40

	6




	6

	44

	4







	17.(A)(Chapter 6, The Production Function) The graph shows the production function where initially each worker contributes more marginal product, then marginal product increases at a decreasing rate, and eventually turns negative and more and more workers are added to fixed resources (machines, factories, etc.). This phenomenon is known as the law of diminishing marginal returns.

	18.(D)(Chapter 6, Marginal Cost) Marginal cost is the change in total cost, so as the total cost of producing 4 is 50 and 5 is 65, 65 - 50 = 15.

	19.(D) (Chapter 6, Production Costs) Anytime there is a cost of production with zero output, that is a fixed cost, which is 5. As costs rise with increased output, these are variable costs. Total variable cost = total cost - fixed cost. At an output level of 4, 50 - 5 = 45.

	20.(B)(Chapter 6, Average and Marginal Costs) If the marginal cost (MC) curve is less than the average total cost (ATC) curve, the Atc curve must be decreasing in slope as output increases. Conversely, as output decreases from 4 to 3, Atc increases. The Mc curve always intersects the Atc curve at its minimum point.

	21.(C)(Chapter 6, Economies of Scale) Constant returns to scale occur when output changes at exactly the same proportion as the change in inputs. Answer C shows both inputs and outputs increasing by 100%.

	22.(C)(Chapter 7, Perfect Competition) At the profit-maximizing level of output of MR = MC, the firm is earning economic profits as P > ATC.

	23.(A)(Chapter 6, Long-Run Costs) With diseconomies of scale, long-run average total costs increase as output increases. If there are economies of scale, long-run average total costs decrease as output increases, and with constant returns to scale, long-run average total costs remain the same as output increases.

	
24.(A)(Chapter 6, Economic Profit) Economic profit considers one’s opportunity cost, unlike accounting profit. Accounting profit is always greater than economic profit as there’s always an opportunity cost. The accounting profit from the yoga studio is $60,000, but he could have earned $100,000 as a lawyer and earned $1,000 in interest, for a total opportunity cost of $101,000. So, the $60,000 is accounting profit, but an economic loss of -$41,000 occurs.

	25.(E)(Chapter 7, Perfect Competition) In a perfectly competitive market, firms can easily enter and exit an industry. If there’s economic profits in an industry, firms will enter until economic profits disappear. If there’s economic losses in an industry, firms will leave, causing remaining firms to eventually break even in the long run.

	26.(C) (Chapter 6, Average Total Cost) Average total cost (ATC) is total cost (TC) divided by quantity. (Anytime you must find an average, just divide the total by quantity.) The $10 at zero units of output is a fixed cost, and the total of the two units’ marginal cost is total variable cost (TVC), which is $60. TC = TFC + TVC, so $10 + $60 = $70. Atc = TC/Q, so $70/2 = $35.

	27.(B)(Chapter 7, Perfect Competition) In long-run equilibrium, perfectly competitive firms are both allocatively and productively efficient.

	28.(A)(Chapter 9, Oligopoly) Game theory strategy and mutual interdependence are key characteristics of an oligopoly.

	29.(E)(Chapter 8, Monopoly) If a monopoly practices perfect price discrimination, D = MR and there is no consumer surplus. Consumers pay the highest price they are willing to pay.

	30.(D)(Chapter 8, Monopoly) The profit-maximizing output level is where MR = MC, so quantity is Q1. From Q1 head straight up to the demand curve and over to the price, P5. Consumer surplus is the area above the price, below the demand curve, and left of quantity. See the chapter for visuals of a deadweight loss.

	31.(E)(Chapter 8, Monopoly) Total revenue is at its maximum when marginal revenue (MR) = zero. MR hits zero at Q2, and the price taken from the demand curve is P4. Consumer surplus is the area above the price, below the demand curve, and left of quantity.

	32.(C)(Chapter 8, Monopoly) Economic profit = P - Atc × Q. At the profit-maximizing price and quantity (MR = MC) of P5, Q1, the area is from point C on the demand curve down to B on the ATC, and left of the quantity, Q1.

	33.(E)(Chapter 9, Monopolistic Competition) Monopolistically competitive firms sell differentiated, but similar, products compared to their competitors.

	34.(A) (Chapter 9, Oligopoly) A dominant strategy is when a player has a best choice regardless of what the other player chooses. If Tommy’s Tennies goes high, he has a profit of $50 if Kevin goes high and $40 if Kevin goes low. If Tommy goes low, his profits are only $40 if Kevin goes high and $30 if Kevin goes low. So high is Tommy’s best option regardless of what Kevin does. Kevin does not have a dominant strategy.

	
35.(B)(Chapter 9, Oligopoly) A Nash equilibrium is where each player chooses the best action for them given the actions of the other player. Tommy’s Tennies’ dominant strategy is to go high. Kevin’s Kicks doesn’t have a dominant strategy but knows Tommy will go with his dominant strategy, high. Kevin will get $45 if he goes high but $50 if he goes low, which is his best option when Tommy goes high. So, the Nash equilibrium is circled with Tommy high and Kevin low.




[image: ]



	36.(E)(Chapter 9, Monopolistic Competition) In long-run equilibrium, a monopolistically competitive firm like firms in all market structures produces where MR = Mc to maximize profits. Here P > MC, and there’s zero economic profits as P = ATC.

	37.(B)(Chapter 9, Monopolistic Competition) When a natural monopoly prices where P = ATC, it’s the fair-return price, with zero economic profits. P = Mc is socially optimal pricing, and MR = Mc is the unregulated price.

	38.(A)(Chapter 9, Oligopoly) The purpose of antitrust law is to prevent oligopolies from becoming a monopoly or acting like one.

	39.(B)(Chapter 10, Marginal Revenue Product) Marginal revenue product (MRP) is the addition to a firm’s revenue when an additional input (worker) is employed. It’s calculated as follows:
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	40.(B) (Chapter 10, Minimum Wage) A binding minimum wage in a perfectly competitive labor market with a downsloping demand curve and an upsloping supply curve would lead to a surplus and fewer workers hired.

	41.(D)(Chapter 10, Marginal Factor Cost [MFC] and Marginal Revenue Product [MRP]) A firm maximizes profits where MRP = MFC. Based on a wage of $20 and a price of $10 per bushel, you can see these calculated in the two new columns added to the chart in the question. A firm will continue to hire labor where MRP > MFC up until they are equal. MFC = change in resource cost/quantity. MRP = marginal product × price.






	Number of Workers

	Bushels of Apples

	MFC

	MRP




	1

	15

	$20

	$150




	2

	32

	$20

	$170




	3

	38

	$20

	$60




	4

	43

	$20

	$50




	5

	45

	$20

	$20




	6

	46

	$20

	$10






42.(D)(Chapter 10, Least-Cost Rule) Using the least-cost rule formula, you can see that the MP/P of labor (100/$20 = 5) is less than the MP/P for robots (1,000/$100 = 10). The firm should then use more robots and less labor. Eventually, as production increases, diminishing returns set in and the numbers will equal out.
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	43.(A)(Chapter 10, Monopsony) A monopsony produces at the output level where MRP = MRC but pays a wage from the supply curve, which is Q1 and $10. A perfectly competitive market is where supply and demand (MRP) meet, or Q2, and $12.

	44.(E)(Chapter 10, Marginal Revenue Product [MRP]) In a perfectly competitive market, the MRP = P × MP. The marginal product of the 4th worker is 10. 10 × $10 = $100.

	45.(A)(Chapter 11, Public Goods) A pure public good is nonrival and nonexcludable. The benefits of national defense do not exclude others, and everyone can benefit.

	46.(C)(Chapter 11, Externalities) The socially optimal quantity is where marginal social cost (MSC) = marginal social benefit (MSB). The free-market quantity where marginal private benefit (MPB) = MSC is less than the socially optimal quantity, so there should be a per-unit subsidy the size of the marginal external benefit (distance between the MPB and MSB curves) to increase production.

	47.(C)(Chapter 11, Lorenz Curve) The lines with bigger curves (or the bigger banana shape) have more income inequality. Line A at 45 degrees shows perfect income equality.

	48.(B)(Chapter 11, Externalities) If society values the marginal social benefit of clean water more than the marginal social cost, efforts to improve water quality will lead to increased efficiency.

	49.(E)(Chapter 11, Externalities) The highway will have spillover effects (such as noise, pollution) on others who may not use or benefit from the highway. This is a negative externality.

	50.(A)(Chapter 11, Externalities) Spillover benefits that occur to others not involved in a transaction is a positive externality, such as enjoying a neighbor’s flowers.










Macroeconomics Pretest

On a separate sheet of paper, answer each question or complete each statement with the correct letter. To get a true assessment of your strengths and weaknesses, do not look up any hints or answers. At the end of the assessment, calculate your number correct out of 50 and you will see a chart estimating what your Ap exam score might be at this point.

1.Economics is the study of

(A)business.

(B)government regulation.

(C)central planning.

(D)how societies manage their scarce resources.

(E)society, politics, and government combined.

2.If buyers bid up the price of a good in a capitalist economy, then

(A)sellers will try to bring more of it to market.

(B)sellers will bring less to market, anticipating less demand at the higher price.

(C)fewer resources will be devoted to its production.

(D)they must not want it.

(E)its price will eventually fall back to normal.

3.If a capitalist society demands more coffee, then the relative price of coffee will

(A)decrease.

(B)increase.

(C)not necessarily change.

(D)remain unchanged.

(E)change indeterminately.

4.Which of the following shifts the production possibilities frontier inward?

(A)Exports

(B)Imports

(C)A large wildfire that destroys timber, homes, and factories

(D)Rising prices

(E)An increase in the number of unemployed people

5.____ has the absolute advantage in guns, and ____ has the absolute advantage in butter.

(A)Cuba; Spain

(B)Cuba; Cuba

(C)Spain; Cuba

(D)Spain; Spain

(E)Spain; neither country










	Labor hours needed to produce a unit of:




	 

	Guns

	Butter




	Spain

	  5

	10




	Cuba

	20

	20






6.According to the law of comparative advantage, Cuba should export ____ and import  ____.

(A)butter; neither good

(B)butter; guns

(C)guns; cloth

(D)guns; guns

(E)guns; neither good










	Labor hours needed to produce a unit of:




	 

	Guns

	Butter




	Spain

	  5

	10




	Cuba

	20

	20






7.Which of the following events has no effect on GDP this year?

(A)You buy a 1957 Chevy from a friend.

(B)The Department of Transportation repaves a road.

(C)Your friends make a music CD that does not sell any copies.

(D)A college buys computers.

(E)You buy a bottle of domestic wine.

8.GDP in year 1 is

(A)$100.

(B)$200.

(C)$300.

(D)$400.

(E)$500.






	Year

	Price of Waffles

	Quantity of Waffles

	Price of Pancakes

	Quantity of Pancakes




	1

	$2.00

	100

	$1.00

	100




	2

	$2.00

	120

	$2.00

	150






9.Assume the base year is year 1. Real GDP in year 1 is

(A)$100.

(B)$200.

(C)$300.

(D)$400.

(E)$500.






	Year

	Price of Waffles

	Quantity of Waffles

	Price of Pancakes

	Quantity of Pancakes




	1

	$2.00

	100

	$1.00

	100




	2

	$2.00

	120

	$2.00

	150






10.The unemployment rate is

(A)5.5 percent.

(B)10 percent.

(C)12.5 percent.

(D)14.3 percent.

(E)80 percent.










	Adult Population

	Number of Employed

	Number of Unemployed




	2,000

	1,800

	200






11.If the consumer price index was 100 in the base year and 107 in the following year, then the inflation rate was

(A)negative 10.7 percent.

(B)1.07 percent.

(C)7 percent.

(D)10.7 percent.

(E)107 percent.

12.Rising prices are a problem because

(A)households are encouraged to save more.

(B)incomes generally do not rise with prices.

(C)the economy could run out of money.

(D)borrowers have to repay loans with more dollars.

(E)money in household savings accounts can now buy fewer goods and services.

13.A business cycle trough is immediately followed by the

(A)expansion.

(B)peak.

(C)inflexion.

(D)nadir.

(E)contraction.

14.If people save more for retirement, holding all else constant, then the immediate effect is the

(A)aggregate demand curve shifts right.

(B)aggregate demand curve shifts left.

(C)short- and long-run aggregate supply curves shift right.

(D)short- and long-run aggregate supply curves shift left.

(E)short-run aggregate supply curve shifts left.

15.Which of the following shifts the aggregate demand curve to the right?

(A)An increase in the price level

(B)A decrease in the price level

(C)An increase in income taxes

(D)A decrease in income taxes

(E)An increase in the cost of borrowing

16.If the economy is at A and there is a decrease in aggregate demand, in the short run the economy

(A)stays at A.

(B)moves to B.

(C)moves to C.

(D)moves to D.

(E)experiences an increase in output.


[image: Small graph showing Price Level on the upper left corner and Real GDP on the bottom right corner. Straight line and diagnol lines in the middle of the graph, intersecting at different letter labeled points with arrows A-D. A-D points form a parallelogram in the middle of the lines in the graph.]


17.What can cause the economy to move from B to A?

(A)An increase in the money supply

(B)A decrease in the money supply

(C)An increase in the nominal wage rate

(D)A decrease in government spending

(E)An increase in immigration from abroad

18.Which of the following shifts the short-run aggregate supply curve to the right?

(A)A fire that destroys a huge timber stand

(B)A technological advance in production methods

(C)A fire wipes out much of the plant and equipment in the economy

(D)Prices are expected to increase in the near future

(E)A decrease in income taxes

19.Which of the following shifts the long-run aggregate supply curve to the right?

(A)An increase in government spending on military equipment

(B)An increase in the labor force

(C)A decrease in unemployment

(D)A decrease in the money supply

(E)An increase in the money supply

20.In the short run, what will happen to the equilibrium price level and the equilibrium quantity of output if short-run aggregate supply increases?

(A)The equilibrium price level increases while the equilibrium quantity of output decreases.

(B)The equilibrium price level decreases while the equilibrium quantity of output increases.

(C)The equilibrium price level and quantity of output increase.

(D)The equilibrium price level and quantity of output decrease.

(E)The equilibrium price level and the equilibrium quantity of output remain unchanged.

21.In the short run, what will happen to the equilibrium price level and equilibrium real GDP if the federal government decreases spending?

(A)The equilibrium price level increases while equilibrium real GDP decreases.

(B)The equilibrium price level decreases while equilibrium real GDP increases.

(C)The equilibrium price level and equilibrium real GDP increase.

(D)The equilibrium price level decreases and equilibrium real GDP is unchanged.

(E)The equilibrium price level and equilibrium real GDP remain unchanged.

22.Imagine an economy on its production possibilities frontier. In the long run, what will happen to the equilibrium price level and equilibrium real GDP if the federal government decreases spending?

(A)The equilibrium price level increases while equilibrium real GDP decreases.

(B)The equilibrium price level decreases while equilibrium real GDP increases.

(C)The equilibrium price level and equilibrium real GDP increase.

(D)The equilibrium price level decreases and equilibrium real GDP is unchanged.

(E)The equilibrium price level and equilibrium real GDP remain unchanged.

23.Assuming the MPC = 0.80 and considering only the multiplier effect, if government spending increases by $40 billion, then national income can potentially increase by

(A)$2 billion.

(B)$8 billion.

(C)$20 billion.

(D)$80 billion.

(E)$200 billion.

24.Assuming the MPC = 0.80 and considering only the multiplier effect, if government taxation increases by $40 billion, then national income can potentially _____ by _____.

(A)increase; $2 billion

(B)decrease; $20 billion

(C)increase; $200 billion

(D)decrease; $8 billion

(E)decrease; $160 billion

25.If the economy is currently in short-run equilibrium at point B and policy makers do nothing, then long-run equilibrium eventually will be achieved at point

(A)A.

(B)B.

(C)C.

(D)D.

(E)E.


[image: Graph illustrating short run and long run equilibrium at point B. Price Level at upper left corner and Real GDP at bottom right corner. Lines diagonally intersect at point B. The rest of the points are on the same vertical line down the middle of the graph.]


26.If the economy is currently in short-run equilibrium at point E, then an increase in aggregate demand moves the economy to ____ in the short run and ____ in the long run.

(A)D; E

(B)A; E

(C)B; E

(D)B; C

(E)A; C


[image: Graph showing economy at short-run equilibrium at point E. Price Level is in the upper left corner and Real GDP is in the lower right corner. There are a few intersecting lines in the middle of this graph. The vertical line in the middle contains points C, E, D. A is on the outside of of two lines with no point. Points B and E intersect at each parallel diagnol line.]


27.The appropriate fiscal policy to remedy a recession calls for

(A)the federal government to run a deficit.

(B)the federal government to run a surplus.

(C)increased taxes and government spending.

(D)decreased government spending and taxes.

(E)increased taxes and reduced government spending.

28.One drawback of using fiscal policy to remedy a recession is that

(A)unemployment will rise.

(B)taxes will have to be raised.

(C)the equilibrium price level will rise.

(D)government spending on important programs will have to be cut.

(E)equilibrium output will fall.

29.During recessions, automatic stabilizers make government expenditures

(A)and tax collections fall.

(B)and tax collections rise.

(C)rise and tax collections fall.

(D)fall and tax collections rise.

(E)stable.

30.The nominal interest rate is 6 percent, and the inflation rate is 2 percent. What is the implied real interest rate?

(A)Negative 4 percent

(B)3 percent

(C)4 percent

(D)8 percent

(E)12 percent

31.With a net worth of $2 million, Jim is wealthier than Tim, whose net worth is $1 million. These figures show that money can be used as a

(A)store of value.

(B)medium of exchange.

(C)unit of account.

(D)means of deferred payment.

(E)way to avoid a double coincidence of wants.

32.Which of the following is included in M1?

(A)Currency in a bank’s vault

(B)Credit cards

(C)Small time deposits

(D)Money market mutual funds

(E)Deposits in savings accounts

33.If the reserve requirement is 2 percent, then the money multiplier is

(A)5.

(B)5 percent.

(C)50.

(D)50 percent.

(E)one-half.

34.According to the quantity equation, if P = 2, Q = 6, and M = 4, then V =

(A)1.3.

(B)2.

(C)3.

(D)4.

(E)12.

35.An increase in the supply of money moves the economy from point D to point  ____. The equilibrium nominal interest rate  ____.

(A)A; decreases

(B)C; decreases

(C)C; increases

(D)B; increases

(E)B; decreases


[image: Nominal interest rate vs. Qantitiy of Money graph where nominal interest appears at the top left corner and quantity of money in the bottom right. Two parallel diagnol lines go through the graph in two different ways with points A-D intersecting with arrows.]


36.If the discount rate is lowered, banks

(A)borrow more from the Fed so bank reserves increase.

(B)borrow less from the Fed so bank reserves increase.

(C)borrow more from the Fed so bank reserves decrease.

(D)borrow less from the Fed so bank reserves decrease.

(E)conduct open market purchases.

37.In the short run, a decrease in the supply of money

(A)decreases interest rates, decreases borrowing, and thereby decreases aggregate demand.

(B)increases interest rates, increases borrowing, and thereby increases aggregate demand.

(C)increases interest rates, decreases borrowing, and thereby decreases aggregate demand.

(D)decreases interest rates, increases borrowing, and thereby increases aggregate demand.

(E)decreases interest rates, increases borrowing, and thereby decreases aggregate demand.

38.Open market operations are when the Fed buys or sells

(A)loans to banks.

(B)Federal Reserve Notes to banks.

(C)Federal Reserve Notes to the public.

(D)Federal Reserve Notes to the U.S. Treasury.

(E)U.S. Treasury securities in the secondary market.

39.If the federal funds rate is above the Fed’s target and banks hold limited reserves, the Fed should

(A)buy bonds to increase the money supply.

(B)buy bonds to decrease the money supply.

(C)sell bonds to increase the money supply.

(D)sell bonds to decrease the money supply.

(E)raise the reserve requirement to decrease the money supply.

40.If the demand for loanable funds increases, then the equilibrium real interest rate

(A)increases but the equilibrium quantity of funds remains unchanged.

(B)increases and the equilibrium quantity of funds increases.

(C)increases and the equilibrium quantity of funds decreases.

(D)decreases and the equilibrium quantity of funds decreases.

(E)decreases and the equilibrium quantity of funds increases.

41.An increase in the money supply _____ the price level in the short run and _____ it in the long run.

(A)increases; decreases

(B)increases; increases

(C)decreases; decreases

(D)decreases; increases

(E)increases; does not affect

42.What is the appropriate monetary policy to move the economy from point A to point B?

(A)Increase in tax collections

(B)Decrease in tax collections

(C)Increase the federal funds rate

(D)Increase the money supply

(E)Increase the discount rate


[image: Graph showing price level in the upper left corner and Real GDP in the bottom right. Two diagnol parallel and intersectiong lines identify ponts A and B with arrows with 1 line down the middle of the graph.]


43.Monetary and fiscal policy

(A)are not used in command economies.

(B)are not used in capitalist economies.

(C)affect only long-run aggregate supply.

(D)are less effective in an open economy.

(E)shift the long- and short-run aggregate supply curves.

44.To reduce the inflation rate

(A)the federal government should deficit spend.

(B)taxes should be reduced.

(C)government spending should be increased.

(D)long- and short-run aggregate supply should be shifted left.

(E)the growth rates of M1 and M2 should be decreased.

45.A reduction in the income tax rate shifts the aggregate demand curve to the

(A)right, and the economy slides up the Phillips curve.

(B)left, and the economy slides down the Phillips curve.

(C)right, and the economy slides down the Phillips curve.

(D)left, and the economy slides up the Phillips curve.

(E)left, but the Phillips curve is unaffected.

46.In the long run

(A)prices are independent of the money supply.

(B)prices move in the opposite direction as the money supply.

(C)the GDP deflator is independent of the money supply.

(D)inflation is always the result of shortages.

(E)inflation rates parallel money supply growth rates.

47.The federal _____ is the amount the U.S. government owes to all its creditors. The federal _____ is the amount by which federal spending exceeds federal tax revenues in any given year.

(A)budget; account

(B)account; budget

(C)deficit; debt

(D)debt; deficit

(E)deficit; excess

48.Which of the following correctly explains the crowding-out effect?

(A)A decrease in the federal deficit decreases interest rates and so increases investment spending.

(B)A decrease in the federal deficit increases interest rates and so decreases investment spending.

(C)An increase in the federal deficit increases interest rates and so decreases investment spending.

(D)An increase in the federal deficit decreases interest rates and so decreases investment spending.

(E)An increase in the federal deficit increases the interest rate and employment.

49.An increase in ____ promotes economic growth.

(A)the price level

(B)the real interest rate

(C)the nominal interest rate

(D)the labor force

(E)consumer spending

50.Economic growth is most likely to be promoted by an increase in

(A)the price level.

(B)the real interest rate.

(C)government spending on higher education.

(D)the money supply.

(E)consumer spending.
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Study Guide for the Pretest

Note the questions you answer incorrectly. Each correct response is followed by the chapter and section that covers the material for answering the question correctly. Concentrate your efforts on these chapters and sections.

Each correct response has an explanation. If you do not understand the explanation, it means you have significant review work in that chapter before you are ready for the exam.




Answer Explanations


	1.(D)(Chapter 2, What Is Economics?) Addressing scarcity is a central theme in the discipline of economics.

	2.(A)(Chapter 3, Capitalism) In a capitalist economy, sellers respond to the profit motive and supply more of a good when its price increases.

	3.(B)(Chapter 3, Capitalism) In a capitalist economy, an increase in the demand for a good causes the price to increase. This, in turn, causes more resources to be devoted to the production of that good.

	4.(C)(Chapter 2, Production Possibilities Frontier) The production possibilities frontier reflects the economy’s production potential. When resources are destroyed, the economy has less productive potential.

	
5.(D)(Chapter 2, Comparative Advantage) It takes Spain 5 hours to make a gun, while Cuba takes 20 hours. Spain is more efficient in gun production. It takes Spain 10 hours to make a unit of butter, while Cuba takes 20 hours. Spain is more efficient in butter production.

	6.(B)(Chapter 2, Comparative Advantage) Nations should export the good in which they hold the comparative advantage. Comparative advantage means having the lower opportunity cost in production.
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Spain has the comparative advantage in guns: 1/2 butter versus 1 butter.

Cuba has the comparative advantage in butter: 1 gun versus 2 guns.

Therefore, Cuba should export butter and import guns.


	7.(A)(Chapter 12, Gross Domestic Product) Secondhand sales do not count in current GDP. The Chevy was included in 1957 GDP.

	8.(C)(Chapter 12, Gross Domestic Product) Year 1 GDP = $2.00 × 100 + $1.00 × 100 = $300.






	Year

	Price of Waffles

	Quantity of Waffles

	Price of Pancakes

	Quantity of Pancakes




	2019

	$2.00

	100

	$1.00

	100




	2020

	$2.00

	120

	$2.00

	150







	9.(C)(Chapter 12, Real GDP) Year 1 Real GDP = $2.00 × 100 + $1.00 × 100 = $300. Real GDP is calculated using the prices in the base year and the quantities in the current year. In this case, year 1 is the base year and the current year, so real and nominal GDP both equal $300.

	10.(B)(Chapter 13, Unemployment) The unemployment rate is the number unemployed divided by the labor force. The labor force is equal to the number employed plus the number unemployed.












	Adult Population

	Number of Employed

	Number of Unemployed




	2,000

	1,800

	200
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11.(C)(Chapter 13, Inflation) The inflation rate is the percentage change in the consumer price index. When the CPI goes to 107 from 100, the percentage change is:


[image: ]



	12.(E)(Chapter 16, Aggregate Demand) Incomes rise with inflation, but deposits in savings accounts do not. A savings account with $100,000 can buy less and less as prices rise.

	13.(A)(Chapter 16, Business Cycles) The phases of the business cycle in order are expansion, peak, contraction, and trough.

	14.(B)(Chapter 16, Aggregate Demand) More saving means less consumer spending. Therefore, aggregate demand decreases.

	15.(D)(Chapter 16, Aggregate Demand) A decrease in income taxes means more disposable income for households to spend.

	16.(D)(Chapter 16, Using the AS/AD Model) The aggregate demand curve shifts to the left, and the new short-run equilibrium is at D.

	17.(C)(Chapter 16, Short-Run Aggregate Supply) An increase in resource prices, especially the price of labor, causes the short-run aggregate supply curve to shift to the left.

	18.(B)(Chapter 16, Short-Run Aggregate Supply) A technological advance means more supply is possible in the short run and in the long run.

	19.(B)(Chapter 16, Short-Run Aggregate Supply) An increase in the labor force means the economy has more resources and more supply potential. Both long- and short-run aggregate supply curves shift to the right.

	20.(B)(Chapter 16, Using the AS/AD Model) After the short-run aggregate supply curve shifts right, the equilibrium moves to E2 from E1. The price level is lower and real GDP is higher at E2.




[image: Graph with Price Level upper left corner and Real GDP in bottom right corner. The supply curve shifts right and the equilibrium identified as points E1 and E2 on the graph moves as the price level lowers down to E2 by a diagnol line labeled AD. There are two parallel diagnol lines labeled SRAS and SRAS' that intersect at all lines in the graph.]


21.(B)(Chapter 16, Using the AS/AD Model) The aggregate demand curve shifts left. The equilibrium moves to E2 from E1. The price level is lower and real GDP is lower at E2 compared to E1.


[image: Graph with Price Level upper left corner and Real GDP in bottom right corner. Diagnol line labeled SRAS cuts through middle of graph and intersects at points P1, E1, Y1 and P2, E2, and Y2. AD' and AD are diagnol lines parallel going through the oppoisite way of the graph also intersecting those same points. An arrow is shown at the top of both those parallel lines labeled AD' and AD.]


22.(D)(Chapter 16, Using the AS/AD Model) The decrease in government spending shifts aggregate demand to the left. The equilibrium moves to E2 from E1. This is a short-run equilibrium since all three curves are not crossing at E2. The economy is producing at Y1, below potential (Yf) at E2, so this is a recession. Unemployment will rise, and eventually the nominal wage rate will fall. Falling wages and other resource prices falling as well cause short-run aggregate supply to shift to the right. The equilibrium moves from E2 to E3. This is a long-run equilibrium since all three curves cross here. Comparing E3 with E1, the price level is lower but real GDP is unchanged.


[image: Graph with Price Level upper left corner and Real GDP in bottom right corner. P1 goes through E1, E3, down to Yf. P2 goes through E2 and Y1. P3 goes through E3 and Yf. AD' and AD parallel lines go intersect with parallel lines SRAS and SRAS' and vertical line through the middle LRAS goes through both. LRAS also goes through points E1 and E3 down to Yf.]


23.(E)(Chapter 18, Government Spending and Tax Multipliers) Calculate the government spending multiplier
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24.(E)(Chapter 18, Government Spending and Tax Multipliers) A tax increase decreases disposable income and therefore decreases national income. The amount of the decrease is calculated as follows:

Calculate the government spending multiplier
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Then, multiplier × tax change × MPC = potential change in national income
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25.(C)(Chapter 16, Using the AS/AD Model) At point B the economy is producing beyond its long-run potential. This is an inflationary gap. Resources are stressed, and labor is working overtime. This causes resource prices and wages to rise. Rising nominal wages and resource prices decrease short-run aggregate supply, shifting the short-run aggregate supply curve to the left. The new long-run equilibrium is at point C, where all three curves cross.


[image: Graph with Price Level upper left corner and Real GDP in bottom right corner. Vertical line through the middle of the graph is labeled LRAS. It has points C, A, E, D. Points C and B are intersected at diangol line AD. Points B and E are intersected by line SRAS. Between LRAS and SRAS is an arrow pointing at label SRAS'.]


26.(D)(Chapter 16, Using the AS/AD Model) The increase in aggregate demand moves the economy from long-run equilibrium at point E to short-run equilibrium at point B. Here the economy is producing above its long-run potential (it’s to the right of LRAS), and this strains resources. Unemployment is very low. Eventually, resource prices and nominal wages increase. This decreases short-run aggregate supply, shifting the short-run aggregate supply curve to the left. The new long-run equilibrium is at point C, where all three curves cross.


[image: Graph with Price Level upper left corner and Real GDP in bottom right corner. The increase in aggregate demand which is the two diagnol parallel lines labeled AD, and AD' moves the economy from long-run equilibrium at point E to short-run equilibrium at point B. Vertical Iine LRAS contains intersection points at C, A, E, and D. Point B and E are on diagonal line SRAS. Opposite arrows pointing away from one another on each side of the graph.]



	27.(A)(Chapter 18, Fiscal Policy in Theory) A federal deficit is achieved by increasing government spending and/or decreasing government tax collections. Both of those fiscal policies are appropriate during a recession because they increase aggregate demand.

	28.(C)(Chapter 18, Fiscal Policy in Practice) The appropriate fiscal policy during a recession is to increase aggregate demand by increasing government spending and/or decreasing tax collections. The increase in aggregate demand causes the equilibrium price level to rise.




[image: In this graph, the increase in aggregate demand causes the equilibrium price level to rise and that is shown by the diagonal parallel lines labeled AD and AD' with intersecting points E1 and E2 and line AS. Point E2 intersects also at vertical line LRAS. Price Level runs along the left side of the graph while Real GDP runs along the bottom.]



	29.(C)(Chapter 18, Automatic Stabilizers) Spending on programs like unemployment insurance rise during recessions since more people qualify. Government tax collections fall during recessions because less income and profits translates into less tax revenue.

	30.(C)(Chapter 15, The Loanable Funds Market) The real interest rate = nominal interest rate - the inflation rate




[image: ]



	31.(C)(Chapter 14, Functions of Money) When dollar figures are used to measure or compare, money is functioning as a unit of account.

	32.(E)(Chapter 14, M1, M2, and the Monetary Base) Deposits in savings accounts are included in M1 but not any of the other responses.

	33.(C)(Chapter 14, Money Multiplier) The money multiplier is the reciprocal of the reserve requirement.




[image: ]


34.(C)(Chapter 15, The Equation of Exchange) The equation of exchange is M × V = P × Q. Using algebra, the value of V can be determined:


[image: ]



	35.(B) (Chapter 15, The Money Market) The money supply curve in the diagram shifts to the right. The equilibrium moves from point D to point C. The equilibrium nominal interest rate is lower at point C than at point B.

	
36.(A)(Chapter 14, Policy Tools of the Federal Reserve) A lower discount rate encourages banks to borrow more from the Fed. Those borrowings increase bank reserves.

	37.(C)(Chapter 15, The Money Market) In the short run, a decrease in the money supply means less is available for borrowing. Interest rates increase, and that discourages borrowing. With less borrowing there is less spending by businesses and consumers.

	38.(E)(Chapter 14, Policy Tools of the Federal Reserve) Open market operations are when the Fed buys or sells U.S. Treasury securities in the secondary market.

	39.(A)(Chapter 14, Policy Tools of the Federal Reserve) When the Fed buys bonds in the secondary market, the sellers deposit the proceeds in the banking system. This increases bank reserves and the money supply. With more money in circulation, it can be borrowed at a lower interest rate.

	40.(B)(Chapter 15, The Loanable Funds Market) An increase in the demand for loanable funds shifts the demand curve to the right. The new equilibrium interest rate ([image: ]) is higher, and the new equilibrium quantity of loanable funds ([image: ]) is greater as well.




[image: Graph showing real interest rate vs. Quantity of Loanable Funds: dotted 90 degree angle lines from re' and re from the left down to Qe and Qe' along the bottom, diagnol line S intersetcting parallell diagnol lines D and D' and finally, arrows pointing right between dotted lines and solid lines]


41.(A)(Chapter 16, Using the AS/AD Model) It does not matter if the short-run or long-run aggregate supply curve is used. An increase in the money supply increases aggregate demand and the price level. The diagrams show an increase in aggregate demand with short-run aggregate supply (SRAS) and long-run aggregate supply (LRAS) curves. In both diagrams, the price level increases.


[image: Both graphs show an increase in aggregate demand with short-run aggregate supply (SRAS) and long-run aggregate supply (LRAS) curves. The graph on the left points E1 and E2 intersection AS and appearing as points on diagnol line SRAS. The graph on the right shows points E1 and E2 on line labeled LRAS.]



	
42.(C)(Chapter 17, Monetary Policy in Theory) The diagram shows an increase in aggregate demand. The monetary policy to achieve that is an increase in the money supply. Decreasing tax collections would have the same effect, but that is a fiscal policy.

	43.(D)(Chapter 19, Monetary and Fiscal Policy in an Open Economy) The effects of monetary and fiscal policy get dispersed to other nations through international trade. Open economies feature international trade as opposed to closed economies.

	44.(E)(Chapter 17, Monetary Policy in Theory) Reducing the growth rates of the money supply decreases aggregate demand. This takes pressure off rising prices.

	45.(A)(Chapter 17, The Phillips Curve) Tax reductions increase income and promote spending. The increase in spending increases aggregate demand, shifting it to the right. More demand means less unemployment and a higher price level. Lower unemployment and higher prices is a point higher up on the Phillips curve.




[image: The graph on the left is showing price level vs. real GDP while the graph on the right is showing inflation vs. unemployment. In the left graph, P1 has dotted line to point E2, dotted line down to Y2 on bottom. P2 has dotted line to point E1, down to Y1 on bottom. Diagnol line SRAS goes through these points. In the graph on the right, points A and B are on a curved line with arrows showing the direction of the curve that is labeled SRPC.]



	46.(E)(Chapter 15, The Equation of Exchange) The quantity theory of money predicts that the growth rate of the money supply and the inflation rate should be about the same in the long run. Studies bear this out as well.

	47.(D)(Chapter 18, The Federal Debt and Deficits) This federal debt is the amount the U.S. government owes to all its creditors. The federal deficit is the amount by which federal spending exceeds federal tax revenues.

	48.(C)(Chapter 18, Crowding Out) Crowding out is when the federal deficit drives interest rates higher. The higher rates reduce borrowing and spending by corporations and households.

	49.(D)(Chapter 16, Economic Growth) Economic growth is promoted by an increase in resources or technological advances. An increase in the labor force is an increase in an important resource.

	50.(C)(Chapter 16, Economic Growth) By promoting higher education, the government is improving the quality of an important resource—the labor force.
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